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Logic in R (TRUE/FALSE)
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2 data <- data.frame(A = c(2, 3, 4, 6, -2), B = c(1, 5, -2, -9, 3))

3
4 logic.vector <- data$B > 0

> logic.vector o h

[1] TRUE TRUE FALSE FALSE TRUE &
> data$A[logic.vector]

[1] 2 3 -2




Linear Regression







Context



https://scholar.harvard.edu/files/rogoff/files/growth_in_time_debt_aer.pdf
http://www.peri.umass.edu/fileadmin/pdf/working_papers/working_papers_301-350/WP322.pdf

Variables

e Country: Country name
e Year: Year of observation
dRGDP:: Percent difference in real GDP (i.e. inflation-adjusted) from last year to the current

year

debtgdp: Debt-to-GDP ratio for the current year

lag.dRGDP: Percent difference in real GDP (i.e. inflation-adjusted) from last year to the
Previous year

lag.debtgdp: Debt-to-GDP ratio for the previous year
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Question 1 hint

» Refer to the following but replace increasing debt & high/low growth
with increasing growth & high/low debt

> par(mfrow = c(1,2))

> growdebt1<-((RR$debtgdp - RR$lag.debtgdp > 2)) & (RR$lag.dRGDP > 2)

> plot (RR$debtgdp [growdebt1], RR$dRGDP[growdebtl], xlab = "Debt to GDP",

+ ylab = "Change in GDP, ", main = "Debt versus Growth, High Growth", pch
+ ylim = range(RR$dRGDP), xlim = range(RR$debtgdp))

> abline(1m(RR$dRGDP[growdebt1] ~ RR$debtgdp[growdebtl]))

> growdebt2<-((RR$debtgdp - RR$lag.debtgdp > 2)) & (RR$lag.dRGDP <= 2)

> plot (RR$debtgdp [growdebt2] ,RR$dRGDP [growdebt2], xlab = "Debt to GDP",

+ ylab = "Change in GDP, 7", main = "Debt versus Growth, Low Growth", pch
+ ylim = range (RR$dRGDP), x1lim = range (RR$debtgdp))

> abline(1m(RR$dRGDP[growdebt2] ~ RR$debtgdp[growdebt2]))

» Create logical vectors for:

* Increasing growth (>= 2%) & high previous debt (> 70%)
» Increasing growth (>= 2%) & low previous debt (< 70%)



he lines in the left and
n the left and right hand

he coefficients vector from these

Question 2




wn

)
oNn

c

C

N S

®)

o

, -+

o

1S11
7))

{=d

ore S
OULS ’5/’@" 7% h d b
3 / //
2vious shitts 1n the debt
7/ /

Question 3
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Question 4



